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More	(complete)	plots	at:

https://userweb.jlab.org/~hszumila/vertex/compareL1L2Plots_10Feb17.pdf
https://userweb.jlab.org/~hszumila/vertex/compareL1L2Plots_v2_10Feb.pdf



Datasets First	hit	of	track Number	of	events
(SVT	at	0.5mm)

L1L1 Both	layer 1 1,450,796

L1L2 one	track	layer	1 258,613

L2L2 Both	layer	2 9,442
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𝜖E)F = 𝑒UV&WXUY&ZXUZ&XUW

Fits	at	each	A’	mass	for	L1L1:
https://userweb.jlab.org/~hszumila/vertex/vertexEffMC/vertexEffFitsL1L1.pdf

L1L1	dataset

𝑝\ = 1.3305𝐸>_ − 4.171𝐸>c𝑚
𝑝d = −0.00118 + 2.566𝐸>_m
𝑝4 = −0.01
𝑝g = 0.0988 − 0.011𝑚 + 0.000134𝑚4

Integrate	when	computing	the	reach.





𝜖E)F = 𝑝\𝑒> &>UY Z/(4UZ)Z	

Fits	at	each	A’	mass	for	L1L1:
https://userweb.jlab.org/~hszumila/vertex/vertexEffMC/vertexEffFitsL1L2.pdf

L1L2	dataset

𝑝\ = −0.536 + 0.0426𝑚 − 0.00052𝑚4

𝑝d = −34.38 + 3.126𝑚 − 0.0252𝑚4

𝑝4 = 6.87 + 0.0932𝑚





Fits	at	each	A’	mass	for	L1L1:
https://userweb.jlab.org/~hszumila/vertex/vertexEffMC/vertexEffFitsL2L2.pdf

L2L2	dataset

𝜖E)F = 𝑝\𝑒> &>UY Z/(4UZ)Z	

𝑝\ = −0.204 + 0.013𝑚 − 0.0013𝑚4

𝑝d = −40.3 + 4.9𝑚 − 0.047𝑚4

𝑝4 = 5.827 + 0.079𝑚






